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https://doubtnut.app.link/lkek2J5wfhb
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1. Construct the mean-proportional of 5 cm, 2.5
cm and also find the value of the mean-

proportional.

o Watch Video Solution

2. Construct the mean-proportional of 4 cm, 3
cm and also find the value of the mean-

proportional.

o Watch Video Solution



https://dl.doubtnut.com/l/_8VLzyar6HtPJ
https://dl.doubtnut.com/l/_kXBj1QwobExf
https://dl.doubtnut.com/l/_kLWdt1akqZ44

3. Construct the mean-proportional of 7.5 cm,
4 cm and also find the value of the mean-

proportional.

o Watch Video Solution

4. Construct the mean-proportional of 10 cm, 4
cm and also find the value of the mean-

proportional.

o Watch Video Solution



https://dl.doubtnut.com/l/_kLWdt1akqZ44
https://dl.doubtnut.com/l/_luSVNhnUgVuO
https://dl.doubtnut.com/l/_B1Dml8MrF80W

5. Construct the mean-proportional of 9 cm, 5
cm and also find the value of the mean-

proportional.

o Watch Video Solution

6. Construct the mean-proportional of 12 cm, 3
cm and also find the value of the mean-

proportional.

o Watch Video Solution



https://dl.doubtnut.com/l/_B1Dml8MrF80W
https://dl.doubtnut.com/l/_NWnYEDXDWb6s

7. Determine the square root of the 7 number

in geometric method .

o Watch Video Solution

8. Determine the square root of the 28 number

in geometric method .

o Watch Video Solution



https://dl.doubtnut.com/l/_OoJCKVBuCRTb
https://dl.doubtnut.com/l/_T9JJ7IMimSnl

9. Determine the square root of the 13 number

in geometric method .

o Watch Video Solution

10. Determine the square root of the number

784 .

o Watch Video Solution



https://dl.doubtnut.com/l/_nSf624FtZUnd
https://dl.doubtnut.com/l/_lIFLcgNpiQqO

11. Construct a rectangle of 6 cm , 4cm by
taking the given lengths as its two sides and
also contruct a square of area equal to this

constructed reactangles .

o Watch Video Solution

12. Construct a rectangle of 7.25 cm , 3.75cm by
taking the given lengths as its two sides and
also contruct a square of area equal to this

constructed reactangles .

| & I


https://dl.doubtnut.com/l/_FrrI3zhzbKpx
https://dl.doubtnut.com/l/_25JymQeXda8K

| ¥ Watch Video Solution |

13. Construct a triangle at first by taking the
given lengths as the sides of the triangle, then
construct a square of area equal to the area of
this drawn triangle .

The length of the three sides are 84 cm , 6.15

cm and 3.75 cm respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_25JymQeXda8K
https://dl.doubtnut.com/l/_Il2hfMR3sWNC

14. Construct a triangle at first by taking the
given lengths as the sides of the triangle, then
construct a square of area equal to the area of
this drawn triangle .

An isosceles triangle, the base of which is 7 cm
and the length of each of the equal sides is 5

cam.

o Watch Video Solution



https://dl.doubtnut.com/l/_8FqpFUH1UE44

15. Construct a triangle at first by taking the
given lengths as the sides of the triangle, then
construct a square of area equal to the area of
this drawn triangle .

An equilateral triangle the sides of which is 4.7

cam.

° Watch Video Solution



https://dl.doubtnut.com/l/_qLTNvKUJFDQB

1. The mean-proportional of 4 and 9 is

A.36

B.6

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pNVRmrQifB07

2. The mean-proportional /a and a,/a is -

A. a

B. a2

C.a\/a

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pLv6b9Yfu9q8

3. By determing the mean-proportional there

can be construted of area equal to the

area of a given rectangle.

A. a rhombus

B. a parallelogram

C.a square

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_xUxUYFjbeUJr

4. The area of a square equal to the area of a
reactangle, the length and breadth of which is
(va+ 1) cm and (y/a — 1) cm respectively.
find the side of the square.

A.1cm

B.1sg-cm

C.v/a—1cm

D.v/a — 1sg-cm

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_ft3b6eX4YdmV

5. Determine the mean-proportinal of the line

segments of 7.4 cm and 3. 378 cm.

o Watch Video Solution

6. Determine the mean-proportinal of the line

segments of 5.6 cm and 6. 428571 cm.

o View Text Solution



https://dl.doubtnut.com/l/_ft3b6eX4YdmV
https://dl.doubtnut.com/l/_caszrBPyoQzs
https://dl.doubtnut.com/l/_rEmhrRElRphA

7. Find the values of the /19 by geometric

method .

o View Text Solution

8. Find the values of the /23 by geometric

method .

o View Text Solution



https://dl.doubtnut.com/l/_1DzEW5ikRwGH
https://dl.doubtnut.com/l/_LI1kQIj1RSeG

9. Find the values of the /11 by geometric

method .

o View Text Solution

10. Find the values of the /29 by geometric

method .

o Watch Video Solution



https://dl.doubtnut.com/l/_3IcQDzEpsSPT
https://dl.doubtnut.com/l/_A6eWJqYjoS6Z

11. Find the square root of 21 by geometric

method.

o Watch Video Solution

12. Find the value of /35 by geometric

method.

o Watch Video Solution



https://dl.doubtnut.com/l/_i0dFQ7PdrDje
https://dl.doubtnut.com/l/_JCDru2PEZqGc

13. Find the value of /31 by geometirc

method.

° View Text Solution

14. Construct a rectangle of 128 cm and 5 cm
and then construct a square of area of the
drawn rectangle and also find the length of

each sides of those squares.

o View Text Solution



https://dl.doubtnut.com/l/_Mt9Ky6TIOSka
https://dl.doubtnut.com/l/_zqgxCGYxnEcI
https://dl.doubtnut.com/l/_UTMLVzMlKn6j

15. Construct a rectangle of 2.2 cm and 4.4 cm
and then construct a square of area of the
drawn rectangle and also find the length of

each sides of those squares.

o View Text Solution

16. 5cm, 8cm and 11 cm at first draw a triangle .
Later on, construct a rectangle of area equal

to the area of the drawn triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_UTMLVzMlKn6j
https://dl.doubtnut.com/l/_GDTL7hciG5uX

17. An isosceles triangle , the base of which is 8
cm and the length of each of its equal sides is
5 cm at first draw a triangle. Later on,
construct a rectangle of area equal to the area

of the drawn triangle.

o Watch Video Solution

18. An equilateral triangle each of whose sides

is 8 cm at first draw a triangle. Later on,


https://dl.doubtnut.com/l/_m71AKVgrntXl
https://dl.doubtnut.com/l/_7cEiiSQpA4Lg

construct a rectangle of area equal to the area

of the drawn triangle.

° Watch Video Solution

19. Construct a triangle of sides of lengths 5
cm , 8 cn and 11 cm . Also construct a
rectangle of area equal to the area of this

drawn triangle

o Watch Video Solution



https://dl.doubtnut.com/l/_7cEiiSQpA4Lg
https://dl.doubtnut.com/l/_jX2WrWX1eX0f

20. Bisect a triangle by a striaght line drawn

parallel to the base.

o View Text Solution



https://dl.doubtnut.com/l/_othkuxBKTw4G

